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Le Daf Du Jour:
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The X>vn1 - of 12’s in D"w:
(Lixaa A" 'on.arey) v .1
Tosfos says this is why the v1 has 12 lines.
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I want to end with:

(.X% N12712) 17127 72 NP
A message from “Le Daf Du Jour”:
“Please remember me”
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A 7n5n taking leave of his Rebbe.
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If the oo is 4 21 so you can explain the "n%u1 is talking about priam 127,
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Is it 7w to say that 7°xn ™1 needed to be told not to go past the naw o1n?
This question might be strengthened by the fact that 7°&n 3 holds Pminn
are XnN»MXT.
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So I want to answer with these xny’s:
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Also perhaps 7nx didn’t take into account the 797p:
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This one foot in is a sticky situation. Perhaps if you even bring it up it will
be upsetting:
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In the following the phrase 1271 71901 has the more coloquially used
definition:
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This same story is brought in w1 w1
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A 111 Vort

Exceptional Unique

The 7N is so enjoyable so why would someone need a 1’11 vort?
So | am introducing this with ....

A Non-11°11 Vort:

Exceptional:

You are exceptional.
There’s always an exception:
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The exception is so exceptional that it is excepted from existence:
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And now the P11 vort:

Unique

You are unique.

Your 11N learning is special.
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